
  

 

 

U.G. DEGREE EXAMINATION —  
JUNE, 2018. 

Second Year 

Functional Tamil 

ENVIRONMENTAL STUDIES 

Time : 3 hours Maximum marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

Each answer should not exceed 2 pages. 

1. What is meant by environmental studies? Why is 
it important? 

 _ØÖa`ÇÀ B´ÄPÒ GßÓõÀ GßÚ? Auß 

•UQ¯zxÁ® GßÚ? 

2. What are ecological pyramids? 

`È¯À ¤μªkPÒ GßÓõÀ GßÚ? 

3. Explain the term ‘disaster management’. 

 ‘÷£›hº ÷©»õsø©’ & ÂÍUPÄ®. 

 UG–139 CCE
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4. What are the causes of air pollution? 

 PõØÖ ©õ_£õmiß Põμn[PÒ GßÚ? 

5. Briefly write about rain water harvesting. 

 ©øÇ}º AÖÁøh £ØÔ _¸UP©õP GÊx. 

PART B —  (4  15 = 60 marks) 

Answer any FOUR questions. 

Each answer should not exceed 5 pages. 

6. How to create awareness about environmental 
protection? 

 _ØÖa`ÇÀ ÂÈ¨¦nºÄ G¨£i E¸ÁõUP ÷Ásk®? 

7. Give an account on Mineral resources.  

 PÛ© ÁÍ[PÒ & ÂÍUPÄ®. 

8. Write the functional aspects of ecosystem. 

 _ØÖa`Ç¼ß ö\¯À£õmk A®\[PøÍ ÂÍUPÄ®. 

9. Write the importance of biodiversity. 

 £À¾°›¯¼ß •UQ¯zxÁzøu ÂÍUPÄ®. 

10. What is nuclear hazard? Explain. 

 Aq\Uv B£zx GßÓõÀ GßÚ? ÂÍUPÄ®. 
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11. Write an account on environment protection laws.  

 _ØÖa`ÇÀ £õxPõ¨¦ \mh[PøÍ ÂÍUPÄ®. 

12. Give an account on Value Education in 
Environment. 

 _ØÖa`ÇÀ PÀÂ & ÂÍUPÄ®. 

——––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION —  
JUNE, 2018. 

Second Year 

Corporate Secretaryship 
BUSINESS CORRESPONDENCE AND 

SECRETATIAL PRACTICE 

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Explain the objectives of business communication. 

 Â¯õ£õμ uPÁÀ öuõhº¦ ÷|õUP[PøÍ ÂÍUSP. 

2. Bring out the importance of sales letter. 

 ÂØ£øÚ Piuzvß •UQ¯zxÁzøu öÁÎ¨£kzxP. 

3. List out the duties of a company secretary. 

 J¸ {Ö©a ö\¯»õÍ›ß Phø©PøÍ £mi¯¼kP. 

4. State the rules regarding forfeiture of shares. 

 £[SPÒ £Ô•uÀ £ØÔ¯ ÂvPøÍ TÖP. 

5. State different kinds of company meetings. 

 £À÷ÁÖ ÁøP¯õÚ {Ö©U Tmh[PøÍ SÔ¨¤kP. 

 UG–475 BCS–24
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SECTION B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the structure of a business letter. 

 J¸ Â¯õ£õμU Piuzvß Pmhø©¨ø£ ÂÍUSP. 

7. Describe the various types of business letters. 

 £À÷ÁÖ ÁøP¯õÚ ÁoP Piu[PøÍ ÂÁ›. 

8. What are the guidelines to be observed while 
writing a report? 

 J¸ AÔUøPø¯ GÊxøP°À Ax öuõhº£õÚ 

ÁÈPõmkuÀPÒ ¯õøÁ? 

9. Explain the importance of insurance letters. 

 Põ¨¥mk Piu[PÎß ÷uøÁø¯ ÂÍUSP. 

10. Examine the qualifications of company secretary. 

 J¸ {Ö©a ö\¯»õÍ›ß uSvPøÍ ÂÁ›. 

11. Explain the procedure relating to the allotment of 
shares. 

 £[SPÒ JxURk öuõhº£õÚ |øh•øÓø¯ ÂÍUSP. 

12. Describe the legal provisions regarding the 
Annual General Meetings. 

 Bsk ö£õx Tmh[PÎß \mh ÂvPøÍ £ØÔ 

ÂÁ›. 

——––––––––– 



 

  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2018. 

Second Year 

Corporate Secretaryship 

BANKING THEORY, LAW AND PRACTICE 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Differentiate between industrial banking and 
development banking. 

 öuõÈÀ Á[Q°¾US® ÁÍºa] Á[Q°¾US® EÒÍ 

÷ÁÖ£õkPÒ ¯õøÁ? 

2. Explain the objectives of banking regulation ACT 
1949. 

 Á[Q JÊ[PõØÖa \mh® 1949 ß ÷|õUP[PøÍ 

ÂÍUSP. 

 UG–476 BCS–25
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3. Explain the general relationship between a banker 
and a customer. 

 Á[Q¯º ÁõiUøP¯õÍº Cøh÷¯ {»Ä® ö£õx 

EÓÄPøÍ ÂÁ›. 

4. What are the essentials of a valid cheque? 

 J¸ Põ÷\õø»°ß •UQ¯ TÖPÒ ¯õøÁ? 

5. What are the precautions to be taken by a banker 
before grating loan against real estate? 

 ›¯À Gì÷hm «x Phß ÁÇ[SÁuØS •ß Á[Q¯º 

÷©ØöPõÒÍ ÷Ási¯ÁØøÓ GÊxP. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the various credit control measures of 
central bank. 

 ©zv¯ Á[Q°ß £À÷ÁÖ Phß Pmk¨£õk 

|hÁiUøPPøÍ ÂÍUSP. 

7. Describe the functions of a commercial bank. 

 ÁoP Á[Q°ß £oPøÍ ÂÁ›. 

8. Explain the organisational structure of the RBI. 

 ©zv¯ Á[Q°ß (RBI) {ÖÁÚ Aø©¨¦ •øÓø¯ 

ÂÁ›. 
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9. What are the precautions to be taken by a banker 
while opening a joint acount? 

 Tmk PnUS xÁUP¨£k® ÷£õx Á[Q¯º 

÷©ØöPõÒÍ ÷Ási¯ |iÁiUøPPÒ ¯õøÁ? 

10. Explain the circumstances where the banker may 
refuse to honour cheques. 

 G¢öu¢u `Ì{ø»PÎÀ Á[Q¯º Põ÷\õø»PÐUS 

HØ£ÎUP ©ÖUP»õ® Gß£øu ÂÁ›. 

11. Distinguish between secured and unsecured 
Advances. 

 Dmk •s£nzxUS® Dk°À»õu •s£nzxUS® 

EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

12. Explain the duties of a paying banker. 

 ö\¾zx® Á[Q¯›ß Phø©PÒ SÔzx ÂÁ›. 

––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION —  
JUNE, 2018. 

Second Year 

Corporate Secretaryship 

COMMERCIAL LAW AND INDUSTRIAL LAW 

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Explain the characteristics of a company. 

 {Ö© C¯À¦PøÍ ÂÍUSP. 

2. Distinguish between condition and warranty. 

{£¢uøÚUS®, EzvμÁõuzvØS® Cøh÷¯ EÒÍ 

÷ÁÖ£õkPøÍU TÖ. 

3. What are the kinds of quasi contract? 

 J¨£¢u¨ ÷£õÀÂß ÁøPPÒ ¯õøÁ? 

 UG–485 BCS–22
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4. What are the duties of a buyer in the Sale of 
Goods Act? 

\μUS ÂØ£øÚa \mhzvß£i Áõ[S£Á›ß 

Phø©PÒ ¯õøÁ? 

5. What is Agenda? Explain the method of preparing 
it. 

 {PÌÄ{μÀ Gß£x ¯õx? Ax u¯õ›UP¨£k® 

Âu[PøÍ £ØÔ ÂÁ›. 

SECTION B —  (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the essential elements of a valid contract. 

 \mh¨£i ö\À»U Ti¯ J¨£¢u® JßÔØSz 

÷uøÁ¯õÚ CßÔ¯õø©¯õU TÖPøÍ ÂÁ›. 

7. Discuss the features of the Indian Contract Act 
1872. 

 C¢v¯ J¨£¢ua \mh® 1872ß ]Ó¨¤¯À¦PøÍ 

ÂÁõv. 

8. State the rights, duties and responsibilities of an 
agent. 

 •PÁ›ß Phø©PÒ, E›ø©PÒ, ö£õÖ¨¦PÒ £ØÔU 

TÖP. 
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9. Explain “Doctrine of Caveat Emptor”. List out the 
exceptions. 

 Áõ[S÷Áõº áõUQμøuU ÷Põm£õmiøÚU TÔ, Auß 

ÂvÂ»USPÒ £ØÔ ÂÁ›. 

10. Describe the importance of Industrial Disputes 
Act. 

 öuõÈØ uPμõÖPÒ \mhzvß •UQ¯zxÁzøu 

ÂÁ›UP. 

11. Explain the provisions of Factories Act, 1948 
regarding working women employees. 

 öuõÈØ\õø» \mh® 1948&À £o ¦›²® 

ö£sPÐUPõÚ •UQ¯ ÂvPøÍ ÂÍUSP. 

12. Describe the powers and duties of Ombudsman. 

 wº¨£õ¯[PÎß AvPõμ[PøÍ²® ©ØÖ® 

Phø©PøÍ²® £ØÔ ÂÁ›. 

——––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE 2018. 

Second Year 

Corporate Secretaryship 

BUSINESS STATISTICS 

Time : 3 hours Maximum  marks : 75 

PART A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. Define Statistics. 

 ¦ÒÎ°À C»UPn® u¸P. 

2. What is meant by dispersion? 

 ]uÓÀ GßÓõÀ GßÚ? 

3. Give the formulas to calculate Karl Peason’s 
coefficient of correlation. 

 PõºÀ ¤¯º\Ûß öuõhº¦PÎß SnP® SÔzu 

`zvμ[PøÍz u¸P. 

 UG–486 BCS–23
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4. From the following data construct an index for 
2007 taking 2006 as base, using simple 
aggregative method. 

Commodities Prices in 2006 Prices in 2007 
 (Rs.) (Rs.) 

A 50 70 
B 40 60 
C 80 90 
D 110 120 
E 20 20 

 GÎ¯ J¸[Qøn¢u •øÓ £¯ß£kzv RÌUPsh 

uPÁÀPÎ¼¸¢x 2006&® Bsøh Ai¨£øh¯õPU 

öPõsk 2007&® BsiØS SÔ±mk Gs 

wº©õÛUPÄ® : 

ö£õ¸mPÒ 2006&ß Âø» 2007&ß Âø» 
 (¹.) (¹.) 

A 50 70 
B 40 60 
C 80 90 
D 110 120 
E 20 20 

5. Calculate trend values by the method of 3-yearly 
moving averages : 

Year : 2001 2002 2003 2004 2005 
Production : 464 515 518 467 502 
Year : 2006 2007 2008 2009 2010 
Production : 540 557 571 586 612 
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 ‰ßÖ Á¸hõ¢vμ |P¸® \μõ\› •øÓø¯¨ 

£¯ß£kzv ÷£õUS ©v¨¤øÚU PnUQkP. 

Á¸h® : 2001 2002 2003 2004 2005 

EØ£zv : 464 515 518 467 502 

Á¸h® : 2006 2007 2008 2009 2010 

EØ£zv : 540 557 571 586 612 

PART B — (4  15 = 60 marks)  

Answer any FOUR questions. 

6. From the data given, compute the Median of the 
average deposit balance of savings for the branch 
during March 2009 : 

Average deposit 
balance (Rs.) 

No. of deposits 

Less than 100 26 

100 – 200 68 

200 – 300 145 

300 – 400 242 

400 – 500 188 

500 – 600 65 

600 – 700 16 
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 RÌUPshz uPÁÀPÎ¼¸¢x ©õºa 2009&UPõÚ Kº 

Á[QU QøÍ°ß \μõ\› øÁ¨¦ C¸¨¤¼¸¢x 

ø©¯zvß \μõ\›ø¯U PnUQkP 

\μõ\› øÁ¨¦  

C¸¨¦ (¹.) 
øÁ¨¦UPÎß 

GsoUøP 

100US® SøÓÁõP 26 

100 – 200 68 

200 – 300 145 

300 – 400 242 

400 – 500 188 

500 – 600 65 

600 – 700 16 

7. Find the standard deviation for the following 
distribution : 

X : 4.5 14.5 24.5 34.5 44.5 54.5 64.5

f : 1 5 12 22 17 9 4 

 ¤ßÁ¸® £[RmiØUPõÚ {¯©a\õ´Ä PshÔ¯Ä® : 

X : 4.5 14.5 24.5 34.5 44.5 54.5 64.5

f : 1 5 12 22 17 9 4 

8. Calculate Spearman’s coefficient of Rank 
correlation for the following data : 

X : 53 98 95 81 75 61 59 55 

Y : 47 25 32 37 30 40 39 45 
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 ¤ßÁ¸® uPÁÀPÎ¼¸¢x ì¨¤¯ºö©ß Á›ø\z 

öuõhº¤øÚU PnUQhÄ® : 

X : 53 98 95 81 75 61 59 55 

Y : 47 25 32 37 30 40 39 45 

9. Calculate Paasche’s Index Number for the data 
given below : 

Commodity Base 
Price 

Year 
Expenditure 

Current 
Price 

Year 
Expenditure

A 5 50 6 72 

B 7 84 10 80 

C 10 80 12 96 

D 4 20 5 30 

E 8 56 8 64 

 RÌUPshz uPÁÀPÎ¼¸¢x £õìa^ì SÔ±mk Gs 

PnUQhÄ® 

ö£õ¸mPÒ Ai¨£øh  

Âø» 

Bsk

ö\»Ä 

|h¨¦  

Âø» 

Bsk 

ö\»Ä

A 5 50 6 72 

B 7 84 10 80 

C 10 80 12 96 

D 4 20 5 30 

E 8 56 8 64 



 UG–486 6

10. Fit a straight line trend by the method of Least 
squares for the following and tabulate the trend 
values : 

Year : 2001 2002 2003 2004 

Sales (in tonnes)  : 20 24 22 30 

Year : 2005 2006 2007  

Sales (in tonnes)  : 28 32 30  

 Estimate the likely sales for the year 2008. 

 SøÓ¢u \xμ •øÓ¨£i ÷|º Á› ÷£õUS ö£õ¸zv, 

÷£õUS ©v¨¤øÚ PnUQhÄ® 

Á¸h® : 2001 2002 2003 2004 

ÂØ£øÚ (hßPÎÀ) : 20 24 22 30 

Á¸h® : 2005 2006 2007  

ÂØ£øÚ (hßPÎÀ) : 28 32 30  

 2008&® BsiØPõÚ ÂØ£øÚø¯ ©v¨¤kP. 

11. State the functions of Statistics. 

 ¦ÒÎ°¯¼ß ö\¯À£õkPøÍz u¸P. 

12. Explain the utility of Time Series Analysis. 

 ÷|μ® öuõhº £S¨£õ´Âß £¯ß£õmiøÚ ÂÍUSP. 

––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE 2018. 

Second Year 

Accounting and Finance 

CORPORATE ACCOUNTING  

Time : 3 hours Maximum  marks : 75 

PART A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. What are the modes of winding up? 
 Pø»¨¤ß ÁÈPÒ ¯õøÁ? 

2. How to prepare of company final accounts? 
 {Ö©® CÖv PnUSPøÍ GÆÁõÖ u¯õº ö\´Áõ´? 

3. A company issued 4,000 8% redeemable preference 
shares of Rs.100 each and 3,000 6% debentures of 
Rs.100 each. They decided to redeem both. For 
redemption the company issued 5,000 equity 
shares of Rs.100 each. Balance of Reserve fund 
was Rs.5,00,000. Give journal entries for issue and 
redemption. 

 UG–500 BAF–21/
  BCS–21
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 J¸ {Ö©® 8% «m¦ •ßÝ›ø© £[SPøÍ 

JÆöÁõßÖ® ¹.100 Ãu® 4,000 £[SPøÍ 

öÁÎ°mi¸¢ux. 3,000 6% Phß £zvμ[PøÍ 

¹.100 ©v¨¤À öÁÎ°mi¸¢ux. {Ö©® 

CÆÂμsøh²® «m¦ ö\´¯ •iöÁkzux. «m¦ 

ö\´ÁuØUPõP 5,000 ÷|ºø©¨ £[SPøÍ ¹.100  Ãu® 

öÁÎ°mhx. Põ¨¦ {v C¸¨¦ ¹.5,00,000. öÁÎ±k 

©ØÖ® «m¦UPõÚ £vÄPøÍz u¸P. 

4. A Ltd offered to the public 5,000, 14% mortgage 
debentures of Rs.100 each at Rs.105, 80% of the 
issue was underwritten by M/S. Ashok and Co. for 
the maximum commission allowed by law. 
Applications were received from the public for 
4000 debentures which were allotted. Show the 
Balance Sheet of the company. 

 A ¼ªöhm {Ö©® ö£õx ©UPÐUS 5,000, 14% 

Ah©õÚ Phß £zvμ[PÒ (¹..100 •P ©v¨¦øh¯x) 

¹.105, GßÓ Âø»°À ÂØP ÂøÇ¢ux. AvÀ 80% 

M/S. A÷\õU Asm ÷Põ&BÀ ÂØÖzuμ J¨£¢u® 

ö\´¯¨£mk \mh¨£i¯õÚ uμS uμ •iÄ 

ö\´¯¨£mhx. ö£õx ©UPÎhª¸¢x 4,000 

£zvμ[PÒ ö£ØÖUöPõÒÍ Âsn¨£® ö£Ó¨£mhx. 

AøÁ HØP¨£mhÚ. {Ö©zvß C¸¨¦ {ø»U SÔ¨¦ 

u¯õ›UP. 
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5. X Ltd. forfeits 100, 12% preference shares of Rs.25 
each fully, called up on which Rs.1,500 have been 
received and reissues as fully paid up to one of the 
directors upon payment of Rs.2,300. Give the 
journal entries required. 

 X ¼ªöhm ¹.1,500 ö£Ó¨£mh 100, 12% ¹.25 
©v¨¦øh¯ •ßÝ›ø©¨ £[SPÒ AøÚzøu²® 

JÖ¨¤Ç¨¦ ö\´x ¤ß J¸ C¯US|¸US ¹.2,300US 

«sk® ÂØP¨£mhx. ÷uøÁ¯õÚ SÔ¨÷£mk 

£vÄPÒ u¸P. 

PART B — (4  15 = 60 marks)  

Answer any FOUR questions. 

6. What is a debenture? Explain its types. 

 Phß £zvμ® GßÓõÀ GßÚ? Auß •UQ¯ ÁøPPÒ 

¯õøÁ? 

7. Distinguish between amalgamation and 
absorption. 

 J¸[Qøn¨¦ ©ØÖ® Dº¨¦ ö\´uÀ – CμsiØS® 

Cøh÷¯ EÒÍ ÷ÁÖ£õk TÖ. 

8. Short notes : 

 (a) Minimum subscription 

 (b) Ex-Interest quotation 

 (c) Contingent liabilities. 
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 ]Ö SÔ¨¦ ÁøμP : 

 (A) SÖ© £[öPõ¨£® 

 (B) Ámi }[P»õÚ ÷©Ø¦ÒÎ 

 (C) Gvº÷|õUS® ö£õÖ¨¦. 

9. Ellavazhagan Ltd., was incorporated on 1-May 
1996 and acquired business on 1.1.1996, from the 
following figures relating to the year 31.12.96. 
Find out profit prior to and after incorporation. 

 (a) Total sales Rs.12,00,000 
  Sales up to incorporation Rs.3,00,000 
 (b) Gross profit Rs.5,00,000 
 (c) Income and Expense and P and L a/c were : 

 Rs. 
Insurance 30,000
Printing and Stationery 20,000
Admission expenses 15,000
Bad debts 
(Rs.2,000 belong to pre incorporation) 8,000
Rent paid 14,000
General expenses 26,000
Directors fees 8,000
Preliminary expense 9,000
Commission on sale 42,000
Rent received (cr) 24,000
Discount on sale 12,000
Advertisement 10,000
Interest received (cr) 9,000
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 CÍÁÇPß {ÖÁÚ® 1-5-1996 AßÖ £vÚ 

ö\´¯¨£mhx. C¢u {ÖÁÚ® 1.1.1996 AßÖ |hzv 

Á¸® Â¯õ£õμzøu 1.1.1996 Áõ[Q¯x. RÌ 

öPõkUP¨£mh ÂÁμ[PÒ 31.12.96 |õÎÀ EÒÍx. 
Cv¼¸¢x Tmk¸ÁõUPzvØS •¢øu¯, ¤¢øu¯ 

C»õ£zøu PnUQkP. 
 (A) ö©õzu ÂØ£øÚ ¹.12,00,000 CvÀ 

Tmk¸ÁõUPzvß •¢øu¯  ÂØ£øÚ 

¹.3,00,000 
 (B) ö©õzu C»õ£® ¹.5,00,000 
 (C) Á¸Áõ´ ö\»Ä ©ØÖ® C»õ£ |mh® 

¤ßÁ¸©õÖ : 
 ¹. 

Põ¨¥k 30,000
Aa_UT¼, GÊxö£õ¸Ò 20,000
{ºÁõP ö\»Ä 15,000
ÁμõUPhß 

CvÀ (2,000 Tmk¸ÁõUPzvÀ •¢øu¯ Põ»zv¯x) 8,000
ÁõhøP öPõkzux 14,000
ö£õx ö\»ÄPÒ 26,000
C¯US|º Pmhn® 8,000
•ußø© ö\»Ä 9,000
ÂØ£øÚ «uõÚ ö\»Ä 42,000
ÁõhøP ö£ØÓx (ÁμÄ) 24,000
ÂØ£øÚ «uõÚ uÒÐ£i 12,000
ÂÍ®£μ® 10,000
Ámi Dmi¯x (ÁμÄ) 9,000
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10. New Ltd, invited application for 40,000 shares of 
Rs.10 each at a premium of Rs.3 per share payable 
as Rs.2 on application, Rs.7 on allotment and Rs.4 
on final call. Applications were received for 65,000 
shares and the following allotment was made. 

 Application for 30,000 shares were accepted in full 

 Application for 30,000 shares were allotted 10,000 
shares 

 Application for the remaining 50,000 shares were 
rejected 

 All sums due were received except the final call 
money on 500 shares. Prepare the ledger accounts 
and Balance Sheet. 

 {² ¼ªmk, £[S JßÖ ¹.10 Ãu®. 40,000 
£[SPøÍ ¹.3 •øÚ©z öuõøP°À öÁÎ°mhx. 

Âsn¨¤US® ö£õÊx ¹.2&® JxURmiß ö£õÊx 

¹.7&® (•øÚ©z öuõøP Em£h) CÖv AøÇ¨¤À 

¹.4&® ö\¾¨£h ÷Ásk®. 65,000 £[SPÒ ÷Ási 

Âsn¨£[PÒ Á¢uÚ. AøÁ RÌUPshÁõÖ 

JxURk ö\´¯¨£mhÚ. 

 Âsn¨¤zu 30,000 £[SPÒ •Êø©¯õP 

HØP¨£mhx. 

 Âsn¨¤zu 30,000 £[SPÒ JxURk 

ö\´¯¨£mhx 10,000 £[SPÒ. 

 Âsn¨¤zu ©ØÓ 50,000 £[SPÒ ©ÖUP¨£mhx. 
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 CÖv AøÇ¨¤À 500 £[SPÒ uÂμ £[SPÒ «x 

ö\¾zu¨£h ÷Ási¯ £n® •ÊÁx® ö£Ó¨£mhx 

÷£÷μmkU PnUSPÒ ©ØÖ® C¸¨¦ {ø»U SÔ¨ø£ 

u¯õ›UPÄ®. 

11. The Sri Company Ltd. was registered with a 
nominal capital of Rs. 6,00,000 in equity shares of 
Rs. 10 each the following is the list of balances 
extracted from its books on 31.12.2007. 

 Rs. 

Calls in arrear 7,500

Premises 3,00,000

Plant and machinery 3,30,000

Interim dividend paid on 1.8.2007 37,500

Stock on 1.1.2007 75,000

Fixtures 7,200

Sundry debtors 87,000

Goodwill 25,000

Cash in hand 750

Cash at bank 39,900

Purchases 1,85,000

Preliminary expenses 5,000

Wages 84,865

General expenses 16,835

Freight and carriage 13,115

Salaries 14,500
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 Rs. 

Director’s fees 5,725

Bad debts 2,110

Debenture interest paid 9,000

Subscribed and paid up capital 4,00,000

6% debentures 3,00,000

Profit and loss a/c (Cr. Bal) 14,500

Bills payable 38,000

Sundry creditors 50,000

Sales 4,15,000

General Reserve 25,000

Bad debts provision 1.1.2007 3,500

 Prepare trading and profit and loss account and 

balance sheet after making the following 

adjustments.  

 Depreciate plant and machinery by 10% write off 

Rs. 500 from preliminary expenses. Provide half 

year’s debenture interest due. Leave bad and 

doubtful debts provision at 5% stock on 31.12.2007 

was Rs. 95,000. 
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 ÿ {Ö©® u»õ 10 ¹. ©v¨¤»õÚ ¹. 6,00,000 

A[RP›UP¨£mh •u÷»õk £vÄ ö\´¯¨£mkÒÍx. 

31.12.2007 Ehß •i²® Põ»zvÀ RÌUPõs 

C¸¨¦PÒ EÒÍÚ.  

 ¹. 

{¾øÁ°À EÒÍ AøÇ¨¦ 7,500
ÁÍõP® 3,00,000
C¯¢vμ[PÒ 3,30,000
1.8.2007 AßÖ ö\¾zv  ̄CøhUPõ»  ̈£[Põuõ¯® 37,500
1.1.2007 \μUS 75,000
{ø»PÒ ö£õ¸zv¯øÁ 7,200
£Ø£» PhÚõÎPÒ 87,000
|Øö£¯º 25,000
öμõUP øP°¸¨¦ 750
Á[Q°¸¨¦ 39,900
öPõÒ•uÀ 1,85,000
xÁUPa ö\»Ä 5,000
T¼ 84,865
ö£õx ö\»ÄPÒ 16,835
\zu®, yUSU T¼ 13,115
\®£Í® 14,500
C¯USÚº Pmhn® 5,725
ÁμõUPhß 2,110
PhÜmk¨ £zvμ Ámi ö\¾zv¯x 9,000

•Êx® AøÇUP¨£mh •uÀ 4,00,000

6% PhÜmk £zvμ® 3,00,000

C»õ£&|mhU P/S (ÁμÄ) 14,500
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 ¹. 

ö\¾zxuØS›¯ ©õØÖa ^mk 38,000

£Ø£» PhÚõÍºPÒ 50,000

ÂØ£øÚ 4,15,000

ö£õxUPõ¨¦ 25,000

ÁμõUPhß JxUS 1.1.2007  3,500

 RÌUPõs \›UPmkPÐUS¨ ¤¢øu¯ C»õ£ |mhU 

PnUS ©ØÖ® C¸¨¦ {ø»U SÔ¨¦ u¯õ›UPÄ® 

 (A) C¯¢vμz ÷u´©õÚ® 10%  
 (B) xÁUPa ö\»Ä GÊv¯x ¹.500 
 (C) 6 ©õuU PhÜmk¨ £zvμ Ámi {¾øÁ°¾ÒÍx 
 (D) ÁμõUPhß ©ØÖ® I¯UPhß JxUS 5% BP 

öuõhμ ÷Ási¯x 
 (E) 31.12.2007 AßøÓ¯ \μUQ¸¨¦ ¹.95,000 

12. Following is the Balance sheet of K Ltd. As on 
31.12.1980. 

Liabilities Rs. Assets Rs. 

2000 shares of Rs. 10  Goodwill 4,000

  each fully paid 20,000 Fixed assets 16,500

Profit and loss a/c 7,000 Current assets 19,500

Debentures 10,000  

Creditors 3,000  

 40,000  40,000
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 R limited agreed to take over the assets of K Ltd., 
(Exclusive of one fixed asset of Rs. 4,000 and cash 
Rs. 1,000 included in current assets) at 10% more 
that the book value. It agreed to take over 
creditors also, the purchase price was to be 
discharged by the issue of 2,000 shares of Rs. 10 
each at the market value of Rs. 15 each and the 
balance in cash. Liquidation expenses came to  
Rs. 400. 

 K Ltd. sold the fixed assets of Rs. 4,000 and 
realized the book value. It paid off its debentures 
and liquidation expenses. 

 You are required to give the Journal entries in the 
books of K Ltd. and R Ltd. 

 31.12.1980&® |õøÍ¯ K ¼ªöhmiß C¸¨¦{ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

2,000 £[SPÒ ¹. 10 Ãu®   |Øö£¯º 4,000

 •ÊÁx® ö\¾zu¨£mhøÁ 20,000 {ø»a ö\õzxUPÒ 16,500

C»õ£&|mh P/S 7,000 |h¨¦a ö\õzxUPÒ 19,500

PhÜmk¨ £zvμ[PÒ 10,000  

PhÜ¢÷uõºPÒ 3,000  

 40,000  40,000
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 R ¼ªöhm K ¼ªöhmiß ö\õzxUPøÍ GkzxU 

öPõÒÍ J¨¦U öPõshx.  (¹. 4,000 ©v¨¦ÒÍ J¸ 

{ø»aö\õzx ©ØÖ® |h¨¦a ö\õzxUPÎÀ ÷\º¢xÒÍ 

öμõUP® ¹. 1,000 – Cμsøh²® uÂμ) AuõÁx Hmk 

©v¨ø£ Âh 10% AvP ©v¨¤À GkzxU öPõshx. 

PhÜ¢÷uõºPøÍ²® GkzxU öPõÒÍ J¨¦U 

öPõshx. öPõÒ•uÀ Âø»UPõP ¹. 10 ©v¨¦ÒÍ 

2,000 £[SPøÍ (\¢øu ©v¨¦ ¹. 15 Ãu®) 

ÁÇ[Q²® ©ØÖ® «vz öuõøPUS öμõUP•® ÁÇ[P 

•iÄ ö\´ux. Pø»¨¦a ö\»ÄPÒ ¹. 400.  

K ¼ªöhm  ¹. 4,000 ©v¨¦ÒÍ {ø»a ö\õzxUPøÍ 

Hmk ©v¨¤Ø÷P ÂØÖ £n©õUQ¯x. Cx ußÝøh¯ 

PhÜmkz £zvμ[PøÍ´© Pø»¨¦ ö\»ÄPøÍ²® 

uõ÷Ú ö\¾zv¯x.  

 K ¼ªöhm ©ØÖ® R ¼ªöhmiß HkPÎÀ }Âº 

÷uøÁ¯õÚ SÔ¨÷£mk¨ £vÄPøÍz u¸P. 

––––––––––––– 


